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(1) [5 pts.] Expand f(z) = T T3a2 1 gy 1 Powers of (x — 1},

power series.

. y =%
b % - (tﬁ .
WLM%M ,:\ (3 Gt ¥
YL e N4 :l,
AR v G &{
%
i
i g
| i

oo
(2) [5 pts.] Find the ezact value of
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and determine the interval of convergence of the

Hint: the denominator is equal to 1 — (1 — z)*.
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3) [Apts.] If-1< h -
(3) [4pts.] < a <0, show ;nQ—i—l Zn2+1 <(N-}-1)2
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(4) [6 pts.] Find the arc-length parametrization of the curve ¥ (t) = <
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(13) [6 pts.] Compute the integral / / zyv/zq
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(14) [8 pts.] Consider the solid S (in R?) bour|
(i) Setup a double-iterated integral which g )
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(16) [12 }
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